INDIVIDUAL FORM - COMPANY, SUBSIDIARIES AND AFFILIATES

${\bf COMPANY, SUBSIDIARIES\ AND\ AFFILIATE'S\ TRADE\ OF\ SECURITIES\ ISSUED\ BY\ THE\ COMPANY}$

(Article 11 - CVM Resolution # 44/2021)

Company Name: BB SEGURI	DADE PARTICIPA	ÇÕES S.A					
Group and Related Persons: Sub	sidiary BB Seguro	s Participa	ções S.A.	CPF/CNPJ:	11.159.426/0001-	09	
			Initial Bala				
						Part	icipation (%)
Securities/Derivati	ves	S	ecurities Characteristics	Quantity		Same Type/Class	Total
BB Seguridade sha	shares Common shares -			-	-	-	
Banco do Brasil shares (Controlli	co do Brasil shares (Controlling shareholders) Common shares				-	-	-
	<u> </u>						
			Transactions in	the period	<u> </u>		
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)
-	-	-	-	-	-	-	ē
			Final Bala	ance			
Securities/Derivati	ves	s	ecurities Characteristics	Qua	ntity	Part	icipation (%)
3 0000111100,2011100	100				y	Same Type/Class	Total
BB Seguridade sha	res		Common shares		-	-	-
Banco do Brasil shares (Controlli	o do Brasil shares (Controlling shareholders) Common shares			-		-	_

(Article 11 - CVM Resolution # 44/2021)

roup and Palatad Paragna: Aff	ilioto I DD MADEDE	Participaçãos C A		CPF/CNPJ:	02 005 452 (0004 07		
roup and Related Persons: Aff	IIIale DD WAPFRE	Participações S.A.		CPF/CNPJ.	03.095.453/0001-37		
			Ini	itial Balance			
Securities/Deriva	ivos	Securities Ch	aractoristics		Quantity	Partici	oation (%)
Securities/Derivatives Securities Characteristics			Quantity	Same Type/Class	Total		
BB Seguridade shares Common shares						-	-
anco do Brasil shares (Controlling shareholders) Common shares					-	-	-
	•			•			•
		1	Transac	tions in the p	period		
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)
-	-	-	-	-	-	-	-
			Fi	nal Balance			
Securities/Deriva	ives	Securities Ch	naracteristics		Quantity	Partici	oation (%)
Securities/Derivatives Securities Characteristics			quantity	Same Type/Class	Total		
BB Seguridade sh	ares	Common	n shares			-	-
unco do Brasil shares (Controlling shareholders) Common shares			-	_	_		

(Article 11 - CVM Resolution # 44/2021)

Company Name: BB SEGUR				1			
Group and Related Persons: Aff	iliate BRASILSEG	COMPANHIA DE SEG	UROS	CPF/CNPJ	28.196.889/0001-43		
			lni	tial Balance			
Securities/Derivet	ivee	Saguritian Ch		tiai Balarioc	Quantity	Particip	pation (%)
Securities/Derivatives Securities Characteristics			Quantity	Same Type/Class	Total		
BB Seguridade shares Common shares					-	-	=
Banco do Brasil shares (Control	Banco do Brasil shares (Controlling shareholders) Common shares				-	-	-
	•			•			
			Transact	ions in the	<u>period</u>		
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)
=	-	-	-	-	-	-	-
			Fi	nal Balance			
Securities/Derivat	ives	Securities Ch	naracteristics		Quantity	Particip	pation (%)
						Same Type/Class	Total
BB Seguridade sha	ares	Commo	n shares		-	-	-
Banco do Brasil shares (Controlling shareholders) Common shares				-	-	-	

(Article 11 - CVM Resolution # 44/2021)

Company Name: BB SEGUR							
Group and Related Persons: Aff	iliate Aliança do B	rasil Seguros S.A.		CPF/CNPJ:	01.378.407/0001-10		
			-				
			In	itial Balance			
Securities/Derivatives Securities Characteristics			naracteristics		Quantity		pation (%)
					•	Same Type/Class	Total
BB Seguridade sh	BB Seguridade shares Common shares				-	-	-
Banco do Brasil shares (Control	ling shareholders)	Commo	n shares		-	-	-
				•	•		
			Transac	tions in the	period		
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)
-	-	-	-	-	-	-	-
			Fi	inal Balance			
Securities/Derivat	ives	Securities Ch	naracteristics		Quantity	Partici	oation (%)
Occurries/Derivat	ives	Occurrines of	laracteristics		Quantity	Same Type/Class	Total
BB Seguridade sha	ares	Commo	n shares		-	-	-
anco do Brasil shares (Controlling shareholders) Common shares		_		-	-		

(Article 11 - CVM Resolution # 44/2021)

Company Name: BB SEGUR	RIDADE PARTICIPA	ÇÕES S.A.						
Froup and Related Persons: Aff	iliate Brasilprev Se	eguros e Previdência S.	Α.	CPF/CNPJ:	27.665.207/0001-31			
	Т		Ini	itial Balance		5		
Securities/Derivatives Securities Characteristics			naracteristics		Quantity		pation (%)	
						Same Type/Class	Total	
BB Seguridade sh	ares	Commo	n shares		=	-	-	
anco do Brasil shares (Controlling shareholders) Common shares					-	-	-	
	•			•				
Transactions in the period								
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)	
-	-	-	-	-	-	-	-	
			Fi	nal Balance				
Securities/Derivat	ives	Securities Ch	naracteristics		Quantity	Partici	oation (%)	
Jeour Hesp Derivat		Occurrines of			quantity	Same Type/Class	Total	
BB Seguridade sha	ares	Commo	n shares		-	-	-	
anco do Brasil shares (Controlling shareholders) Common shares		-		-	_			

(Article 11 - CVM Resolution # 44/2021)

Group and Related Persons: Aff	iliate Brasilcap Cap	oitalização S.A.	•	CPF/CNPJ:	: 15.138.043/0001-05		
				1	15.150.045/0001 05		
			In	itial Balance			
Securities/Deriva	ives	Securities Ch	naracteristics	Quantity		Partici	oation (%)
Goodinios Situation		444		Same Type/Class	Total		
BB Seguridade sh	BB Seguridade shares Common shares				-	-	-
anco do Brasil shares (Controlling shareholders) Common shares				-	-	-	
	•			•	•		•
			Transac	tions in the p	period		
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)
-	-	-	-	-	-	-	-
			Fi	nal Balance			
Securities/Deriva	ives	Securities Ch	naracteristics		Quantity	Partici	oation (%)
OCOUNTION DELIVE		Occurred of			Quality	Same Type/Class	Total
BB Seguridade sh	ares	Commo	n shares		-	-	-
anco do Brasil shares (Controlling shareholders) Common shares			_	-	_		

INDIVIDUAL FORM - COMPANY, SUBSIDIARIES AND AFFILIATES

COMPANY, SUBSIDIARIES AND AFFILIATE'S TRADE OF SECURITIES ISSUED BY THE COMPANY

(Article 11 - CVM Resolution # 44/2021)

Group and Related Persons: A	ffiliate Brasildental (Operadora de Planc	s Odontológicos S.A.	CPF/CNPJ:	19.962.272/0001-09		
			Initia	l Balance			
2 11 5 1						Particin	pation (%)
Securities/Deriv	atives	Securities	Characteristics	G	uantity	Same Type/Class	Total
BB Seguridade s	hares	Comr	non shares		-	-	-
Banco do Brasil shares (Contre	olling shareholders)	Comr	non shares		-	-	-
	<u> </u>		Tourseller	! 41!-			
			Transaction	ns in the perio	a I		
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)
-	-	-	-	-	-	-	-
			Final	Balance			
Securities/Deriv	atives	Securities	Characteristics		uantity	Particip	oation (%)
Occurred berry	atives	Geodinics	Securities Characteristics		dunnity	Same Type/Class	Total
BB Seguridade s	hares	Comr	non shares		-	-	-
Banco do Brasil shares (Contro	olling shareholders)	Comr	non shares		_	-	-

(Article 11 - CVM Resolution # 44/2021)

Company Name: BB SEGI			,, , , , , , , , , , , , , , , , , ,				
roup and Related Persons: Subs	sidiary BB Corretora	de Seguros e Admi	nistradora de Bens S.A.	PF/CNPJ:	27.833.136/0001-39)	
			Initial B	alance			
						Particin	pation (%)
Securities/Deriv	/atives	Securitie	s Characteristics	(Quantity	Same Type/Class	Total
BB Seguridade s	shares	Con	nmon shares		-	-	-
anco do Brasil shares (Contr	rolling shareholders)	Con	nmon shares		-	-	-
	<u>.</u>						,
			Transactions	in the period			
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)
-	-	-	-	-	-	-	-
			Final Ba	alance			
Securities/Deriv	vatives	Securitie	s Characteristics		Quantity	Particip	oation (%)
Securities/Derivatives Securities Characteristics					auannty .	Same Type/Class	Total
BB Seguridade shares Common shares			-	-	-		
anco do Brasil shares (Controlling shareholders) Common shares			-	-	-		
							1

INDIVIDUAL FORM - COMPANY, SUBSIDIARIES AND AFFILIATES COMPANY, SUBSIDIARIES AND AFFILIATE'S TRADE OF SECURITIES ISSUED BY THE COMPANY (Article 11 - CVM Resolution # 44/2021)

alification: Treasury Stocks				CPF/CNPJ 17.344.597/0001-94					
			Initial	Balance					
Securities/Deri	vatives	Securities Ch	aracteristics	C	uantity	Particip	oation (%)		
		ocourtics on			Ť	Same Type/Class	Total		
BB Seguridade		Commor		23	,133,332	1.1566666	1.1566666		
anco do Brasil shares (Cont	rolling shareholders)	Commor	n shares		- 1	-	-		
			Transactions	s in the perio	d				
Securities/Derivatives	Securities Characteristics	Broker	Operation	Date	Quantity	Price (R\$)	Total Amount (R\$)		
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	01	39,600	32.93210	1,304,111.00		
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	04	1,100	32.94000	36,234.00		
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	05	28,000	32.93929	922,300.00		
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	06	300,000	32.89864	9,869,593.00		
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	07	192,000	32.87127	6,311,284.00		
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	12	147,600	32.92357	4,859,519.00		
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	13	161,100	32.92950	5,304,942.00		
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	14	69,100	32.93852	2,276,052.00		

BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	20	200,000	32.92629	6,585,258.00
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	21	250,000	32.37244	8,093,109.00
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	22	400,000	32.44190	12,976,759.00
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	25	400,000	32.11854	12,847,415.00
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	26	400,000	32.26401	12,905,604.00
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	27	400,000	32.57106	13,028,422.00
BB Seguridade shares	Common shares	BRADESCO CTVM	Share Buyback Program	28	400,000	32.74	13,096,560.00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	01	31,000	32.93968	1,021,130.00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	04	20,000	32.91900	658,380.00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	05	42,400	32.93708	1,396,532.00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	06	102,900	32.88345	3,383,707.00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	07	64,500	32.89845	2,121,950.00
BB Seguridade shares	Common shares	Genial Investimentos Corretora de Valores Mobiliários S.A	Share Buyback Program	12	101,600	32.92955	3,345,642.00

BB Seguridade shares	Common shares	Genial Investimentos Corretora de Valores Mobiliários S.A	Share Buyback Program	13	104,000	32.90019	3.421.620,00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	14	30,100	32.93661	991.392,00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	20	202,000	32.89669	6.645.131,00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	21	250,000	32.39334	8.098.335,00
BB Seguridade shares	Common shares	Genial Investimentos Corretora de Valores Mobiliários S.A	Share Buyback Program	22	274,800	32.38257	8.898.729,00
BB Seguridade shares	Common shares	Genial Investimentos Corretora de Valores Mobiliários S.A	Share Buyback Program	25	400,000	32.14300	12.857.200,00
BB Seguridade shares	Common shares	Genial Investimentos Corretora de Valores Mobiliários S.A	Share Buyback Program	26	400,000	32.28690	12.914.759,00
BB Seguridade shares	Common shares	Necton Investimentos – BTG Pactual Corretora de Títulos e Va	Share Buyback Program	27	400,000	32.62474	13.049.896,00
BB Seguridade shares	Common shares	Genial Investimentos Corretora de Valores Mobiliários S.A	Share Buyback Program	28	400,000	32.77	13.106.631,00

BB Seguridade shares	Common shares	-	Variable Remuineration	05	26,951	-	-
			Final E	Balance			
Securities/Deri	Securities/Derivatives		Securities Characteristics		uantity	Particip	ation (%)
occurries/Deri	valives	Occurries onaracteristics		•	dantity	Same Type/Class	Total
BB Seguridade shares		Common shares		31,926,181		1.5963091	1.5963091
Banco do Brasil shares (Controlling shareholders)		Common shares		-		-	-